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—1.60x107°C
=0.95V
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_hc
E= hN

_ 1240 eV.nm
~  385nm

=3.22eV

93 9alt ABlo O g . AW JAZN O B (e 3T O cuony daBluatf plad ¥ (19758 ABLo (18 AT 14D rekaw (ye ()9 )i s sl
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¢ Ll eV s Ll

-Jstly (95 pal) ABlo Cawsmd Afiby

daas daige

pohe — e
A

_ (6.626x10*'J/Hz )(2.998x10° m/s)
1.520x10"" m
=1.31x10""]

+ AS pond ! A3 Ual) Cowsd ELTD day

_1 2
KE_va

+|
E
<
E

|

= % (9.11x10* kg)(7.9x10° m/s)>

—19

=2.8x10""]
KE=E-W
W= E—KE
=1.31x10""*J —2.8x107"]
=1.0x107"*]

—(1.0x107" I)(L)

1.60x10"°J
=6.2eV
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h
A=
m="
Av
_ 6.626x10™"'J /Hz
(7.6x107'°m)(9.6x10° m/s)
=9.1x10"" kg
$8.5J &S > e & ey 5 68 kg S Jor Jdxliaadl Jsp 3o dsb jluiele .8
-1 .0
KE = 2 mv
v=2KE

1 IYLS G (T 93 (63 A 90 Jsbo O 51

=(6.626x10%J/Hz)((2)(68kg)(8.5])) " 3

=1.9%x10 " m

sl J skl la oy (g0l dgandl B 3 5lue Lid 52X 107 m 05 SN dliaadl Js g2 8 e I b OS13] .9
no b
= mv
- _h
V= mx

KE=—qV,= L mv*
__mv?®

V,=—15;

—_—mh®_
222 m?

I
2q2N\*m

— (—6.626x10*J/ Hz)?
(2)(~1.60x107" €)(5.2x10™"° m)*(9.11x 10" kg)

=56V
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E,=—13.6eVx L
n2

AE=E,—E,
— 1 1
= (—13.6 eV)(?— —)
=-—12.1eV
m&bglﬁw\&wwEZ‘GLE_S\L;MJLL.LALAMSOZeV ngu:\;&fj)w"&)éd)fﬁlu\b
5,1
AE=E~E,

—3.02eV=-13.6(1-- L)
n? n?

Y
13.6 eV
ne

—3.02eV+3.40eV =

n =6

§7.63x1070m o jlad iz O 55 (5 kel Bl S gs 0 6
_ nh?
472 Kmq?
42 Kmaq®r
h2

_ [4m? (9.0x10° N.m?/C?)(9.11x 10" kg) (1.60x10™"° C)*(7.63x10"° m)
(6.626x10**J.s)?

=12
2530 M (5 glucsg (i 9 yebg?! 35 390 e auad Ty Cop o =Ty NP1 512§ 51 Aayphang
n= [T =, [ 262100 m _ gy, o @i
To 5.30x10""' m

1
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AE=E, —E,
=(—-2.17x107"J)( %2 ) = ((—217x107°J)( L))
=2.04x10"""]

E=hf

_E
f_ h 18
2.04x107"Y
6.626x10 > ].s

=3.06x10" Hz

€ B Uall 5 sms ] B, B (5 gtams g0 03 55) iy Lonkis yatand) 055530 iz sall S5kl 5
AE=E,—E,
= (-217x107"1)( 55 ) = (-217x107"1)(53))
=1.54x10""]

_ (6.626x107"'J/s)(3.00x10° m/s)
1.54x107"°]

=1.29%10°m
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Fadl cdast sl (g srmadl Bl Lab 30|
—_ . hc - 3 &
E=hf="¢
X
_ (6.626x107"'J/s)(3.00x10° m/s)
9.3x107"]J

=2.14x10""%J

=(2.14x107°))(—1e¥—)
1.60x107"°J
=13.3 eV daiee ddl

E=E,+AE
=—13.6eV+13.3eV

=—0.3eV
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o kg 35l Sy SOV sde ol e sledl oo bl 15,3 JS (35 U5 UL B o kY1 ) 1

rﬁu\:\“
freee sue _ _ 1,1000g
g (free e ade /atom) (NA)( ﬁ)( Tkg )
free e~ sue /atom = 3 free e~ /1 atom (N, =6.02x 10> atom /mol .M =114.82 g/mol. -V

freee auc _ (3freee ) (6.02x10% atoms) ; 1 mol )\ 1000g
kg _( latom)( mol )(114.82g)( 1kg )

= 1.57x10% free e~ /kg aga it

CduﬂlOdmsjsﬂ‘ij}lﬁ}|>JﬁwbCJ)\Jor_”&Jﬁrbﬁﬁu\S)JJS@Q\FQLUJZQ!' r‘}:ﬁjm‘w 2

e _ 1000
retiieT:-\c = (freee sde /atom)(NA)( ﬁ)(p)( 1 kgg)

free e~ suc/atom = 2 free e~ /1 atom « N,=6.02x 10* atom/mol. : ,53c

M=112.41 g/mol, p= 8.65 g/cm?®

freeesae _ (2freee” | 6 .02%10% atomsy; 1 mol ;8658\, 1000 cm?
dm? - ( atom )( mol )( 112.41 g)( 1 cm? )( 1 dm? )

=9.26x10% free e~ /dm?® pgealsd) 2
oSl §7.81x10% free e~ Je (g som 1.00 mm o Jad e Jgbo Lo 3,5 IS S usly o 053] bl paiad .3

L= (o) (reeemsse) (C0m) (L)L

N,=6.02x10% atom/mol .M = 63.546 g/mol .p= 8.65 g/cm?.free e~ sue = 7.81x10* free e~ TSV

r =1.00mm/2=0.50 mm = 0.050 cm
Gl

L

B . . 1 mol 63.546 g\ /1 cm?
m—('n'(o—ﬁ);)c ﬂ)2)(7.81><1024 freee )(f;:’t:g_ll) ((:‘o.022x1n(;:)3 atoms) 1 mol )(agglg)

=1.18x10*cm =118 m
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QZ@-).U\ oda Lo (’ﬁbfd\
freee aue

—= (IFA)(M)(IE)( GeJ free e~ .m:)

N,=6.02x10* atom/mol .M =72.63 g/mol. p=5.23g/cm® . a3
Ge s free e suc=1.13x10% free e-/cm?

freee aue

— 1 mol 72.63 g)(lcm3) (1.18><1015 free e—)
atom 6.02x10% atoms’ * 1 mol /5238 1 cm?

= 2.61x10°° free e~ /atom

2.61x107° 59w 400.0 K 2> ya e pgiile y 53 /free e aue o i

)3 e ,y3 JS 355 s sallE pdl by xSV sue L 1400.0 K 55 die 4.54x 10" free e~ /cm?® O S| j2a) 5
Qz\;-).U\ oda Jue Si

freee suc 1 1
SER—— (_) (M)(_)( 4.54x10" free e~ /cm3Si 3 )
atom N, P
N,=6.02x10% atom/mol .M =28.09 g/mol . p=2.33 g/cm’. ST

Si tfreee /cm?® aue=4.54x10"free e~ /cm?® 400 K 5,1 y> 4> y3 Lic

freee sus — 1 mol 28.09 g)( 1 cm?® ) (4.54>< 10" free e~ )
atom 6.02x10% atoms’ ' 1 mol ’ ‘2-338 1 cm3
=9.09x10"

9.09%10" 5 9lus 400.0 K 2> s Lic Sizyn/free e sue oi i

oda die Si 3 e em®/ &l Uy 2SN sue e .200.0 K i 53 e 3.79%10 B free e~ /cm® O Sl paa) 16
§i I

freee aue  freee sue
cn® ' atom ) (N ( ﬁ) (p)

free e-/atom =3.79x 10" free e~ /1 atom .N,=6.02x10% atom/mol. : 33

M =28.09 g/mol p=2.33g/cm?®.

free Cade (3.79)( 10" free e )(6.02x 10 atom )( 1 mol )(2-33 8 )

1 atoms 28.098/\ 1 cms3

cm? 1 mol

= 1.89x10° free e~ /cm?

1.89%10° free e~ /cm® s 9luw 200.0 K 4> y2 ic Sisyn/free e sue of i
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M =28.09 g/mol :N,=6.02x 10> atom/mol p= 2.23 g/cm?. YV
1Asatom=1Ase 3.X10°As e/ a5 a)1€"  dayi o) 5 af1€” ade \cm?® = 1.45x10' e~ /cm?.

As atoms=( As Syd sde )( 3x10°As e~ )(1.45x101° e—)(28-09 g)( 1 mol )( cm?® )
Si atoms 1Ase- Ayl 21 5 )1 € ade 1 cm? 1 mol / '6.02x10% atoms’‘2.33 g

=8.71x10"7

@)Js)Jb\j’r}fL‘fJ\é}pbl200OKBJ\J";’JAMCIH?)JS@J"L_‘;)\J—"&L’IIGXIOIOCJ—:’L“J?‘U .8
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531 5 ol 1 L J geamel) Jslotanll

@Lﬁ‘dﬁ&" _ @Lﬂl‘dzu." 1 1

o e —— )V 37) () (———>)

Sl st JALd 5.25x10° atoms Sl JaL

M =72.6 g/mol .N,=6.02x10* atom/mol p=5.23 g/cm®. : ,33c
Sl JAL aue = 1.16X10% gy > 431 / cm?®

o lal JAL =( 1 tlatl J30 )(6.02x1023 atomS)( 1 mol)(5-23g)( 1cm?
SoHlsadt JA3L \5,25%10° atoms mol 72.6g ' 1em® /Y 116x10" gy > JB0
=7.12x10"°

G038 Aol g2 p gile 2l el 56 13] .200.0K 3,1, o p> s em?® IS > (551> J3U1.89%x10° 0,0 Lud) .9

Gols putdual S sl oda i &) ool VBN ) dodladl MBI s Lad 08 g 8,3 0 52ke 3.75 S 51 5
a3 L0 5l ol 1 e J gaaml) J sl

@h&!dzmo _ @Yhﬂdﬁuﬂ 1 1

PR ——— )W (3) () (————)

L Jaldt *3.75x10° atoms Sl JRL

M =28.09.6 g/mol (N,=6.02x10* atom/molk p=2.33 g/cm?. . o9

ot JAL aude = 1.89X10° 551yt J2LYY / cmB.,

= lalt JBL =( 1 ztlae Jabo )(6.02><1023 atomS)( 1 mol )(2-338)( 1cm?
Golxadt JBL 3,75 10° atoms mol 28.09g’ ' 1cm®’ 1 89105 ¢y > J3L
=7.05x10"
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V,= IR +V,=(0.011A)(680 ) + 0.45V

=79V

A8 MA Ll ldie 055 Lokie 0.95V (6 sl Lol lendl 38 5ol dguline 3L 1¢S5 315 3V, 5 lsdgr b bsgll 11
oIV, &Uadl dgr e Lad o JI sl e s ladl s & Ul o Alaze 5 390 © (g 5L R o sliall SIS 150
V,=IR+V,

= (0.018 A)(390 2) + 0.95V
=8.0V
byl O 13 €10 VLl b 430 ,¢I15 511 s 27mA oslkis S ,eS 5l s o N d el g Sz s 12

ey o 2 ) e
V.=IR+V,

= (0.027 A) (680 2) + 0.45V

=19V
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M\ u,al; .a
Ol gyt ALS ) — (pulad ALS) = ALSH
(SligSgtt ALS ) —( Dby I
=10.012939 u — (5)(1.007825 u)—(5)(1.008665 u)

=—0.069511u

MeVid> o 4950l by JIGL b
day 1 ABlk ) (ALK padh ) = Aagsil! day b AblLs
(Tud aageit

= (—0.069511 u) (931.49 MeV/u)

= —64.749 MeV

O5lS o5 Uil b BB e
FG b (1305 9.0 UST dan 31 ABllo

—64.749 MeV _
G548 5:5 10

b e SWLYI e Ghaal sl ST 6
038 55 1S Loy a5 (il s 2Fe il
. —8.75 Mev/ 05dS 4 gslus lp b
:)\J,a;u

¢ bl ay by Bl .a

( 594455656 ) (—8.75MeV/ (15,4856 )=—4.90x10°MeV

—6.4749 MeV/ (5418 5.6

¢ ol ig) Al ok b
Asgsdt day 0 AB L
(103 295201 day 41 HBlL)

'&.USJ!@:

_ —4.90x10> MeV
931.49 MeV/u

=—-0.526u

Y P 0] Sy T
Al ligd il slaadl oSt
BOPu— Z5U + X
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Fol o LSl s 52 19—, il s s kg

=27 —26
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skl a,dd el e st e
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il U“aj" a

Olagd g o) ALS ) — (Ll ALS) = ALY (yadd
(SOlig gt ALS ) — (Slig sty

=24.985840 u — (12)(1.007825 u)—(13)(1.008665 u)

=—0.220705 u

MeV s> o &g ol by 1B b
day 0t A8l ) ((ALSH add ) = Aageidt day b ABls
(lut aggeu

= (—0.220705 u) (931.49 MeV/u)

= —205.58 MeV
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S Y Llee e 5y el B b
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